Y6 Maths Home Learning - W/C: 01.06.2020
Task |: Log in to Purple Mash: Task 2: Log on to Rock Stars

Task 3: Prime numbers, Factors and Multiples

Circle the prime number. Here are five numbers.

/3456

\Write each number on the correct cards.

95 89 87

. . The number 2 has been written on the correct cards for you.
Explain how you know the other numbers are not prime.

Prime Factors of Factors of
A square number and a prime number have a total of 22 numbers 12 15

What are the two numbers?
2 2

square number prime number ‘Arite three factors of 30 that are not factors of 15

Virite all the common multiples of 3 and & that are less than 50

Task &4: Arithmetic

1) 13-17= 9) 2 5 16) 37.2+6=
579
804,456 e
2) . 208792 10) aleil- 17) = s
3) 601,600 - 1,000 - 1,000 = 18) 2+2-

1) Lo
4) 801,821 - 16927 =

12) 2;x3: 19) 0.04x12=
) 300,001 - ? = 200,002

6 20) 2+7x7-10=
) 8954 +6=
)

360 -50x 7 = 14) 44)5715 =

% i 568
8) o?+82-3'= 15) 55% of 46 =

21) 460.405-9.5=

Task 5: Money - Using .all 4 .operations + Reasoning
£5670.34+ £35.4 =
£3.99x8

£9.50=£2.29 +



Y6 Maths Home Learning - W/C: 01.06.2020

Amina posis three large letiers.

The postage costs the same for each letier.
She pays with a £ 20 note.

Her change is £14.96

What is the cost of posting one letter?

3 pineapples cost the same as 2 mangoes.

One mango costs £1.35

How much does one pineapple cost?

Large pizzas cost £8.50 each

Small pizzas cost £6.75 each.

Five children tegether buy one large pizza and three small pizzas.
They share the cost equally.

How much does each child pay?

One gram of gold costs £32.94

What is the cost of half a kilogram of gold?

A shop sells fruit.

Chen buys 2 apples and 3 bananas.

He pays £2.35 /"T\ ,--;')

Megan buys 2 apples and 1 banana
She pays £1.25 YA
() (bes) —
| Sl
o\ o

How much does one banana cosi?

A shop sells jars of heney and honey dippers

Chen bought three jars of honey and a dipper.

The total cost was £5.40
The dipper cost 75p

How much did each jar of honey cost?

Here are three supermarket bills.

el e et

Total £74 B8 Total £68 80 Total E5B .05

Tom rounds each bill to the nearest £10 and then adds them up.

What is the total amount that Tom gets?

Mary adds up the three bills exactly

What is the total difference between her total and Tom's toial?

Chloe and Denise each bought identical T-shirts from the same shop

Chloe bought hers on Monday when there was 15% off the original price

N\
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Denise bought hers on Friday when there was 20% off the original price

ey 20%
OFF

Chloe paid 35p more then Denise

\

What was the original price of the T-shirt?




